ONOMA:

H nponadela tou 8

Zourfinpwve ™y nponaudeia tou 8.

8%) AX8=__
%% QAXB=__
8+8=___

%%% 3AXB8=__
B8+8+8=___

& ok ke 4%8=_
B8+8+8+8=___

W e e 5X8=__
8+8+8+8+8=___

TROROROR X xo.
8+8+8+8+8+8=___

R R O X xBe
8+8+8+8+8+8+8=___

KRR KR RR K axgo_
8+8+8+8+8+8+8+8=___

B R RR R R R R X8
8+8+8+8+8+8+8+8+8=___

TR TR RER  [oxs-_
8+8+8+8+8+8+8+8+8+8=__
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YnoAoyiTw Ta NAPAKATW YVOUEVAQ.

AXB=___ OX8=___ 5X8=__
8X8=__ 8X6=___
8X4=___ 3X8=___

ALaBAZw kaAd kal padaivw an’ EEw ™y nponaudela tou 8.

MaSaivw ar’ EEw oav nonuataki:

1 X 8 =8 (o popd TO OXTW OXTW)
2 X 8 =16 (8o popESs To oxTw SEKAEL)
3 X 8 =24 (TPELS POPES TO OXTW ELKOCL TECOTEPQ)

4 X 8 = 32 (TECTEPLS POPES TO OXTW TELAVTA 800) )
S X 8 =40 (NEVTE POPES TO OXTW TAPAVTA)

6 X 8 =48 (€EL YOPES TO OXTW TUPAVTA OXTW)

F X 8 =56 (ENTA POPES TO OXTW NEVNVTA EEL)

8 X 8 = 64 (OXTW POPES TO OXTW EENVTO TECTEPA)
9 X 8 = F2 (EVVIA POPES TO OXTH ERSAAVTA 800) |

io X 8 = 80 (Seka. (popES TO OXTW OySovTa)
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